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/\7j> b~/ u ,’1 ?—%o)uﬁg; %kﬁ W 1. Today we are going to study about
7, macroeconomics.
<~/ %%% i ,’1& L%é D ;{,% EI% 72 2. Macroeconomics is an underlying aspect of
%Z‘ﬂ@ A 0);&0 <7, economics.
~ /7 (1%7 % I 7 nm (%;(%;z N 3. Another underlying aspect is
:__}C%;E;j 72 %F’ CLLTHhHWETNFD microeconomics, but the difference is that
/Eﬁ“c H.vo/u %i{%g X Lﬁb %L- hr7- macroeconomics deals with the aggregated
%j%{ﬁ {21_(75_» #& WET, economic agents in the whole country.
ZhiZ i]“ LTI/ nm ﬁ%m ;% j:ﬂﬁ]/z D 4. In contrast, microeconomics deals with the
,i%{ﬁ {21_(75_» #& WET, respective economic agents.
/j/\iﬁ] IXFD~7nm fj:{ﬁjzé‘;ﬁhy ) %{’ VY 5. Now we are studying about such
7, macroeconomics.
ﬁzj%j D7 ~1}E l 755@51/ AN/ 6. Let’s study macroeconomics using this
;‘%jb J;% 2oV \’(ﬁ%jﬁ LET, economic flow chart.

Nl e ci}j‘g fi(ﬁ 35{2{:“( 5 %,ﬁ L 7. In this flow chart, we can see two main
7 %\;%) i %/Zf'b“ LTCWE7, economic agents: households and firms.
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Households demand for and pay money for

goods on the goods market.

On the contrary, firms supply goods to the

goods market and receive money.

Households and firms are active not only in
the goods market but in the production
factors market as well.

Households supply their labor and capital
on the production factors market.

Firms demand for this labor and capital.
These activities make for the main
economic circulations in a country as seen
in the figure.

The inner is the circulation of goods and
labor.
The circulation

outer is  money

corresponding to the inner flow.

This is a closed economy model in which
the foreign sector is not mentioned. We can
enlarge our model with the consideration of
the foreign sector.

With the appearance of the foreign sector,
we have the importation and exportation of
goods on the goods market.

In addition, on the production factors
market, there are also possibilities of
international relationships based upon the

movements of capital and labor among

countries.

cREO TR TIN5 ASH L A A) economic circulation
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market, and suppliers on the production
factor market.

Next, we will look at firms.

Similarly, macroeconomics deals with the
aggregated firms in the whole country.
Firms decide the production amount of
goods and the input amount of production
factors targeting at profit maximization.

As seen in the economic flow chart, firms
are suppliers on the goods market, and
consumers on the production factors
market.

Next is another important economic agent,
namely the government.

Under the market mechanism in the

completely competitive  market, the
supply-demand equilibrium is attained, and
the optimal price as well as the optimal

quantity of supply and demand are decided,

accordingly.
. Then, the social optimal welfare is
achieved.
However, in reality, the completely

competitive principle does not work out in
almost all of the markets, and hence the
market mechanism does not fuction.

The government intervenes in order to
correct the market mechanism which does
not work properly.
In other words, to remedy the market
failure.

In intervening, the government targets at
maximizing the preferable social utility
throughout the country.

The government intervenes in the markets

in the form of the investment in public
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utilities, taxation, subsidies, issuance of
government bonds and so on.

Finally, let’s consider the foreign sector.
The above 3 economic agents perform in a
closed economy without the participation of
the foreign sector.

Hence, we now consider the foreign
sector as an expansion of an open economy.
The involves the

foreign  sector

movements of goods, capital and labor
among countries.

Particularly, the movement of goods among
countries is called international trade.
Relatedly, we have the concept of balance
of trade (or balance of payment) regarding
the relationship with the foreign sector.
Balance of payment represents the total
amount after subtracting the amount of
imported foreign goods from the amount
of exported goods among those goods a
country produces in a certain time, namely
one year.

When the export amount is greater than the
import amount, we have a “trade surplus”.
On the contrary, we have a “trade deficit”
when the export amount is smaller than the
import amount.
Under the circumstance of perfect
competition in economics, there is no room
for neither trade surplus nor trade deficit;
the balance of payment always reaches
equilibrium.

That means, the balance of payment
becomes zero.

in  which

In economics, the situation
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[ Market Mechanism ]

Let’s look into the market mechanism
The 2 main economic agents, namely
households and firms, join the market
altogether.

As seen in the economic flow chart,
households and firms perform on the goods
market and the production factors market.
In the figure, the vertical axis is for price
(P), and the horizontal axis is for quantity
(x). Simply speaking, the right-hand
upward curve represents the supply curve,
and the right-hand downward curve
represents demand curve.

Under the condition of perfect competiton,
supply and demand reach equilibrium in the
respective market; the optimal price as well
as the optimal quantity of supply and
demand are decided at the equilibrium

point.
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Once these are decided, the most socially
correct choice takes place.

In economics, the term “social surplus” is
used to represent the social welfare. Hence,
once the optimal price and the optimal
quantity are decided, the social surplus is
maximized.

The market function through which the
equilibrium point is decided is called the
“market mechanisim”.

If the market mechanism works, each
economic agent who takes part in the
market performs freely, then the most

proper choice takes place socially.

- R EAR (2 X9 % w9 & 2 {HA) supply curve
- ERHS (AT AE L D%E D) perfect competition

- B)ffs (X A2 9) equilibrium

TG A=A L (LUE X IDONZTE) market mechanism

cHEDOEA (Lo o Z 9 ) social welfare

RS

- RERHF (S AEAE X 9% 9) imperfect competition

cTHEORK (LT X9 DL 5I1E\VY) market failure

- HEERRRE (LehnTE XL xD)

- PHSERREE (WD STV EWY)  closed economy
- BARREE (DW)MZE D UV EWY) open economy
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SC4 HoEmh 2 kg
FOI T 7% RTIES U,
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[National Economic Accounting]

1.

Let’s  consider national  economic
accounting, which shows the magnitude of
economic activities in a country.

Related to this is the term GDP.

GDP is made from the initial characters of

Gross Domestic Product.

GDP represents the total amount of added
value of the produced goods and services in
a certain period within a country.

Added value is the value which is newly
added during production.

This added value is attained after
subtracting the value of intermediate inputs,
such as the amount of raw materials used,
from the computed amount of produced
goods.

For example, let’s consider the added value
related to the process of bread production.
In order to make bread, the bread producer
needs wheat which is produced by the
farmer.

The farmer needs raw materials in order to
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make the wheat.

The farmer spent US$30 on the purchase of
the raw material, and sold the wheat to the
bread producer at US$50.

Hence, at the stage of the farmer, it
generated the added value of 50 — 30 =

US$20.

Next, the bread producer spent US$50 on
the wheat purchase, and sold the bread to
consumers at US$100.

Hence, at the stage of the bread producer,
100 — 50 = US$50 of added value was
generated.

GDP is the total sum of the added value,
therefore, in this example the total added
value of the two stages 20 + 50 = US$70
makes for GDP.

Now is the explanation for Gross National
Product (GNP).

Nowadays, GDP is used to describe a
country’s economic magnitude, but in the
past GNP was often used.

GNP is made from the intial characters of
Gross National Product.

GNP represents the aggregated national
income of a country in a certain period
regardless of the production place.

Next is about National Income.

NI is taken from the initial characters of
National Income.

National income represents the aggregated
income of a country’s economy.

income

National is equivalent to the
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income after subtracting from GDP the
taxes (indirect tax and direct tax) which are
imposed by the government.

Now, let’s study some terms related to the
study of national economic accounting.

First are Flow and Stock.

Flow shows the increasing and decreasing
amount in a certain period of time.

While stock shows the accumulated amount
at a certain point of time.

Flow and stock are terms which are often
used when discussing capital.

Second are Net and Gross

Net represents the amount after subtracting
the usage charge of the existing capital
stock such as machinery, plants and so on
during production, i.e, the depreciation, or
the fixed capital depletion upon accounting
the national economy.

Gross represents the total amount of added

value.

- ERBREEHAE (2 < AT EWF N EA) national economic accounting

- [HOMIE (577 5) added value

- [ENKARE (GDP) (Z < Z2WEZ D H WS A) gross domestic products
- [FERKAPE (GNP) (Z < AAZ D HWIA) gross national products
- ERFTEND) (Z<AAL X &) national income

c7r— (559) Flow

- Abhv2 (T&5<) Stock
- ffi (CwA) Net

- # (£ 9) Gross
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B E R
- i (BW&A) tax, tax charge
- fiBh4 (13U X X A) subsidy
- & (&9 L) investment
- H#E (L X 90 consumption
- (b xH<) savings
- [EERMAE (Z< ALY AFWE A) net national product
- (HR) ALV (< AA) (L X SAL X E<) (national) disposable income

RNE D Vo E AT

DB RSN A EICE L DT b DT

X 10 ~’£’ﬁ:)\2}’b6
B ) T 27010, 16 m B 2 B AND = &,

18 Fife
Heds-L, b5 LT,

o5
Mo R AT L LA T 2RO LTS D T,
Bl 56O BT Lo CHIT B,

X

26 L
AN bRB L, FEHT L,

Bl BRSO ke S LT,
PSR LT,
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PR | = %R To %) oo R
VAN Lwoizws & L9 LIz ) LIz )
= FatO I A+ i A B A
I\ R ) L&Jkﬁt/&é ;T'_'L_l‘l. ZAFAL Y AT 1E L XA ;;c_bl\’f“t’);/\liit) DB
opp | PRI = I G R AR BB B RIS 2 6 0
CwA L ;)7:£«t/& <
WG
;L}/m\/uiiél\b(w’)‘b‘%’)vttwo ~1i-u\é\éétylip\5ﬁubbwo :<fu\‘f:/\'>:'fjﬂ\\t ;i/wﬂ/wﬂg
= R #IHE S + BUR i #4102 + ENFRE EE AT
iHjﬁ]‘ EWVWZVAE S M :;rwt;i,\fm%W&Uti
+ AERESR BN + R SRR
[%%éﬁ; i @W: Ef ] [The Principle of Three-sided Equivalence]
JQRA ,‘;%f N g“%é =t %M %ﬁ{”‘ L 1. There is a so-called “three-sided equivalence
(i/:él] R0 E principle” in the field of national economy
accounting.
%M é%)ﬁjﬁ 0)%:@; L M%* %%,1 » jﬁ % 2. According to this principle, the magnitude of
RS T HNEADA h i 1 i 1 1
<#7% GDP %Y,JJ/E F B A the national economy is always equa
LD Ay 7x .~ 1 f wheth 11 1 fi h
%ﬁi L ﬁ\ﬁﬂﬁfﬂ BE TS L regardless of whether it is measured from the
%,’hjj% N % r5 L @_/\WC% L e view of production, the view of distribution
W9 I kT or the view of expenditure.
TS A NCEWS ALz 1 1
iftﬁ N ﬁ 2L GDP 13k A 3. From the view of production, GDP represents
(é“(@?ﬁ%) ODHJJMEIN ,?:é“f“ﬁ‘o the total amount of the added values of all
production agents.
ShEvd A 7 IYRA 1 1 1 1
SEH 75 B 5 & . GDP 1352 o 4. From the view of distribution, GDP
Lyoicwd &EErH Lywoicws 5 LIty d
R CBGO D reprensents the total amount of the whole of
R households’ income, the whole of firms’
=] ‘/Gj‘o
revenues and the government’s revenues.
Boduns, S dEolglrog T O LR AUAD ) 5. Besides, in terms of distribution, GDP can
YRR E A T, EE R ARFE,
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Eﬁj%% . =) ji/\ %," 4 a%ﬁ i F ?ﬁ%# also be expressed as the total sum of workers’

@%”’“%%%‘k %%“C%é@” LW TEFET, income, fixed capital depreciation, indirect
taxes, subsidies, sales surplus, and the net
factors of income from abroad

6. ; Lm%ﬁu 5 ﬁ %5 L. GDP g;‘r%ﬁ;ﬁ %‘%L,’: 6. From the view of expenditure, GDP
(“i%? %M . f&b}ﬁ ;‘%Lff: (“f S . m represents the total amount of private final
fé’f% f‘{i S ’2““\ 1 | L;F'/; {E)jji] . %’»LZEL% consumption expenditure, government final
f“ﬁ%%ﬁo)%\)%wfjﬂo consumption expenditure, gross domestic

fixed capital formation, increase in
inventories and external surplus.

7 %M 7= GDP g;t\ %’%if }E% %{ﬁ 7. The produced GDP is distributed to either

271~0)1/ Newalid) 0)45?% :E/\ﬁ . #F households, firms, the government or the
LT ﬂéj% XNFET, foreign sector; and then spent on
consumption expenditure.

8. T /bbb, ﬁ@#?ﬁ N5 ﬁ 7= GDP = 8. In the other words,we have the constantly
a//\vﬁéﬁ? yiEYa) ﬁ 7- GDP= i Hjﬁ ﬁ) 5 ﬁ equivalent relationship of GDP in the view of
7= GDP &\ 9 fﬁ f,%‘? Fﬁ‘q’% M EJZ N7 i ¥ production, distribution and expenditure.

Shh b o PAES

T Zha =mEfoFH T,

- ZEEA (SA®HAE D7) three-side equivalence
< EPEH (BWEA®A) production
- Zm (L LwD2®HA) expenditure
Sy (SAEVW e A) distribution
-EFBIR(Z 9 U X 92 ATFWY)  constantly equivalent relationship

B E R
- B (WL w o)  tax revenue
c HEERL (B X <HE2HVY) direct taxation, direct tax
- WAL (D2AEDHE V)  indirect taxation, indirect tax
- PRAGEEER (P AW L & 9 OV 2 9) marginal propensity to consume
- FEFE (U x99 952957 multiplier effect
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, GDP. . — GDP
GDP FEZE(% )= chP 100
BEF
GDP.,
GDP B (%)= ( —1)=100

GDPy,

() : A4 GDP=550 JkH
FEAE D GDP=500 JKH
LAED

GDP B (%)= (ﬁ— 1)+ 100=10%

S5

10.
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DANEIALARS
~ 7 vk ;ﬂ %b‘“(%giﬁ \ETT
AR A AN =P )
B D% ﬁ}zﬁz _Ob\fﬁﬁpuﬁbiﬁ“
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D ERE

SFE Y| R RER L3 EE ERN
YU BE (GDP) 00 il N R % 0k L %
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GDP ik 5% L 13, 440 GDP b
- o

VERD GDP %51 & | 2 0 & IR0
GDP T%IJ » .100 %:%Wﬁ% LET,

< nw &
T*c:t\ EZIK tﬁfﬂ%‘f‘é ¥ T GDP

E‘ZE%%D‘I‘ L/T%‘ibcl: 50

&<

280> GDP 75 55096 1. WEEE D GDP
7% 5009k [ & % GDPk B 513 b
7ZIFTL X9,

Kok CrrwCEHE T 5 L. GDP

Hbr 5o

B 2RI 0% 72 0 £,
GDP % H% 2 7= 0 4 HGDP & £
GDP 30 9,

% HGDP & 1it - ¥ — & 2 O fliff %
%f®ﬁ%fﬂoh@ﬁf¢

Lﬂ [,/)
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[ Economic Growth]

1. Let’s study another important aspect of
macroeconomics, namely economic
growth.

2. Economic growth mainly represents the
increase of real GDP via the expansion of
the whole economy along with time.

3. The economic growth rate expresses the

percentage of increase of real GDP.

4. The economic growth rate is calculated by
taking the difference of GDP between this
year and last year, then dividing this
difference by the GDP of last year and
multiplying the result by 100.

5. Now let’s compute the GDP growth rate in
the following example.

6. GDP for this year and last year are 550
trillion yen and 500 trillion, respectively.
What is the GDP growth rate this year?

7. Using the above equation, we have the
solution at 10% GDP growth rate.

8. There is the classification between Nominal
GDP and Real GDP.

9. Nominal GDP is computed basing on the
current price of goods.

10. Real GDP is the GDP in which the

fluctuation of price-level is considered; i.e,



11.

12.

13.

ShfmE R LT ET

% HGDP 1358 % B % 2 Cu i
Wb, KMo GDP & L TR D L
NTEEEA,

FEGDP VLA K T 2B 2 T E
T8, EEEOAik K HE L5 Dbz
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it represents how much goods is produced
actually.

Nominal GDP does not show the actual
GDP because it does not take into
consideration of the price-level fluctuation.
Similarly, real GDP is also not a perfect
index although it takes into account the
price-level fluctuation. The reason for this
is that it is difficult to observe the real
price-level.

However, despite this imperfection, real
GDP is often used rather than nominal

GDP.

- BRFEAE (T WHEWD & 9) economic growth
CRFERESR (FWEWNEWNH X 5 YD) economic growth rate
- AR AKHE (D33 T WL A) price-level
- FEENBAERE (G GP) (Lo L 2Z<R2WNnZ 538N EA) real GDP

- A BEWRAERE (4 H GP) (D1 H < Z<RWE 9V E A) nominal GDP

B EREE
- BREEE (W E W TUVZ0Y)  economic stagnation
- A7 (WAL inflation
-l LS (< U x 9 L Xk D) price hike, price increase
- 771 (TA5H) deflation

MRS T (5222 < TV 2») price decline

EESTEE

X

FLEnEnHrin-o

3 %

~ SIRES Ho b
e sk - B
Lz e

frdiz 5 7= AoEA
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U3S=

FRDJE
E‘ x 174:/uﬁ>/u < 5 A
FRE BR DX 53
f;i& I;‘fié E 51}»/\//)/\, :bf\z-lf
ARl L REE R OBK
R
XyFr A7 3—44 SVwzEi L ~AES
AEHRE DL L B
adT— YA ) 8-10 £ ;;/)U"c ')/; ~hES
- A ORI L D
”/“%9)%/1%7;5{”
JRR YT AT woosE | oS
WMok TR BRI LD
AV RTF=T AN | MSOF | - Bl £ o T A U B B
[EKER] [The Economic Cycle]
| ); ' )_i }}%’ﬁ.‘é g %‘fz:;% P Hi @E%ﬁ;}(L {“ 1. The economic cycle indicates the
% 515 %%jj ’i’ﬁaﬁ LET fluctuation of all economic acitivities.
2 o
9 % » ft“t GDP 1% %;ﬁb‘%& % cI o 2. GDP mounts along with annual economic
iﬁé'jj[l Lt 7 I % b 3 izm P 250 growth, but it does not always augment in
H N Ay pll \_. =}
THEH Y EHAL a regular fashion.
3. = @%?ﬁ%{% % GDP @%&”% K 3. We cannot consider the economic cycle
Lo é‘»é <L %; %%ﬁﬁi\ﬁﬁg)ﬂiﬁ" without looking into the trend in GDP
XA o
growth .
4 Gl LE;% (‘l% D (’; ;%(”k’ Y 4. There is evidence that economic activities
;écﬁﬂﬁf foejé”‘“ % FAH LR L‘;%Lgé X under the capitalist economic system
VLA — &
nCnET experience fairly regular up and down
fluctuation.
5 - @%%ﬁb) £ <IJ ,’:_‘J {Jﬁ f)ﬁ LTwha L 5. Such fluctuation is called the “economic
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cycle” because it regularly moves in
cycles.

The above chart shows an economic cycle
within a certain period of time.

Between the two economic booms there is
a cyclical bottom.

The situation in which the economy
changes from a boom to a bottom is
called an “economic recession” period.
The situation in which the economy
recovers from the bottom to another boom
is called “economic upturn” period.

There are different types of the economic
cycle. Let’s consider the 4 main types as
follows

First is the Kitchin cycle.

The Kitchin cycle is the shortest cycle
taking place every 3 — 4 years.

Second is the Juglar cycle.

The Juglar cycle takes place every 8 — 10
years.

It is also called the “facility invesment
cycle” because it takes place upon the
need to invest in facilities.

Third is the Kuznets cycle.

The Kuznets cycle takes place around
every 20 years.

It is also called the “building cycle” based
on the need for the replacement of
buildings.

The last is the Kondratieff cycle.

This is the longest cycle taking place

around every 50 years.
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It takes place upon the need for

technology innovation; however, its
existence is still under debate.
This is the end of the lecture on

macroeconomics.

economic downturn, economic downswing
economic upswing, economic recovery

(ZFEAZHLwwAnAD AA) equilibrium business-cycle theory
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